Supplementary Materials S2

Pre- and post-Jury Questionnaire

CLIZEXSJLRY OLESTIONIAIRE 2. How important is it to think about how ill patients currently are when deciding which

new health services to fund?

Very important Oa
Please imagine that yvou are the provincial Minister of Health. Your job is to decide which
new health services the province should pay for. These health services may help different

groups of patients, and there 1sn’t enough money to fund all of them. When deciding Moderately important [
which ones to fund, you might consider:

Important Oa

Of little importance [

Not important atall [
Number of patients How many patients might benefit from the health service?

affected
Current health How ill are the patients in the group who might benefit from
the health service?
3. How important 1s 1t to think about what might happen to patients if the new health
Life expectancy What is the life expectancy of patients in the group if the service is not funded when deciding which new services to fund?
without treatment service 15 not funded?
_ i _ _ ) Very important Oa
Health gain How much will the health of patients in the group mmprove 1f
the service 1s funded? Important o
Moderately important []
Of little importance [
Not important atall [
PART A

Please answer the following questions by placing a check mark in the box that best
describes your views:

1. How important is it to think about the number of patients who could benefit when 4. How important is it to think about how much the health of patients might improve if they
deciding which new health services to fund? get the new health service when deciding which new services to fund?
Very important O
Very important Oa
Important O
Important Oa

Moderately important (1 _
Moderately important []

Of little importan O
ittle 1mp ce Of little importance [

Not important atall [ Not important atall [



PARTB Characteristic Categories Description
Please rank the following four factors that might be used to help determine the priority of Number of patients Few Less than 100
mﬂ‘erent patleT:t groups for health care in order of importance to you, starting with the most Many More than 10,000
important one:
Number of patients Current health Severely 11l Unable to perform daily activities
Current health (working, family or leisure); in extreme
Prognosis without treatment paj_r]_ or discomfort; depressed
Health gain
Moderately 11l Unable to perform some daily
activities; in moderate pain; mildly
Most 1. depressed
tmportant 5 Mildly ill Able to carry out daily activities; in
: mild pain
3. Life expectancy without Less than 1 year
treatment®
Least 4. 1 to 5 years
important *Some disease progress slowly
and others progress very quickly More than 5 years
Health gain with treatment Health returns to normal (what it was
Masximum before the illness); life expectancy
h returns to normal (what 1z was before
PART C the illness)
Please imagine that you only have enough money to fund one of two treatments. Health does not_.return to normal (pre-
Treatment A is used to treat illness A (patient group A), while treatment B is used to treat illness), _bUt paUCTi=lare able to perform
illness B (patient group B). The two groups of patients are different. Moderate most daily activities; life expectancy
doubles from what it was without
The table on the next page shows the possible characteristics of the patient groups. treatment
Minimal Health does not return to normal and
patients are not able to carry out most
daily activities on their own; life
expectancy doubles from what it was
without treatment

Questions 1 through 18 ask vou to make a choice between funding treatment for Group A
or Group B. Alternatively, vou can choose to fund both groups equally or indicate that you
would prefer that someone else makes the choice. For each question, please place a check
mark in the box that best describes yvour view.



QUESTION 3

QUESTION 1
GROUP A GROUF B
Number of patients Few Few
Current health Moderately ill Mildly i1l
Life expectancy without i ;
treatment Less than 1 year 1to 5 vears
Health gain with treatment Maximum Moderate
Please check one of the following boxes:
Fund Group A [}
Fund Group B [}
Divide funds equally between the groups [}
Let someone else decide O
QUESTION 2
GROUP A GROUP B
Number of patients Many Few
Current health Mildly all Mildly 11l
Life expectancy without Less than 1 year 110 5 years
treatment
Health gain with treatment Moderate Maximum

Please check one of the following boxes:
Fund Group A

Fund Group B

Divide funds equally between the groups

Ooooao

Let sotneone else decide

GROUP A GROUF B

Number of patients Many Many
Current health Severely 11l Moderately 11l
Life expectancy without Less than 1 year More than 5 years
treatment
Health gain with treatment Minimal Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O
QUESTION 4

GROUP A GROUF B

Number of patients Few Few
Current health Severely 11l Mildly i1l
Life expectancy without A few weeks 1to 5 years
treatment
Health gain with treatment Maximum Maximum

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O




QUESTION 7

QUESTION 5
GROUP A GROUFP B
Number of patients Few Many
Current health Moderately ill Mildly ill
Life expectancy without More than 3 vears 1 to 3 years
treatment
Health gain with treatment Maximum Maximum
Please check one of the following boxes:
Fund Group A O
Fund Group B ]
Divide funds equally between the groups [
Let someone else decide O
QUESTION 6
GROUP A GROUP B
Number of patients Few Many
Current health Severely ill Moderately 1ll
Life expectancy without Less than 1 year Less than 1 year
treatment
Health gain with treatment Minimal Maximum

Please check one of the following boxes:
Fund Group A

Fund Group B

Divide funds equally between the groups

O o0o0oao

Let someone else decide

GROUP A GROUFP B

Number of patients Many Few
Current health Moderately ill Moderately i1l
Life expectancy without More than 5 years Less than 1 year
treatment
Health gain with treatment Moderate Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B [}

Divide funds equally between the groups [}

Let someone else decide [}
QUESTION 8

GROUP A GROUP B

Number of patients Few Few
Current health Moderately 1ll Mildly 11l
Life expectancy without 1to 5 years More than 5 years
treatment
Health gain with treatment Minimal Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O




QUESTION 11

QUESTION 9
GROUF A GROUPB

Number of patients Many Many
Current health Moderately 11l Severely 11l
Life expectancy without Less than 1 year 1 to 5 years
treatment
Health gain with treatment Maximum Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O
QUESTION 10

GROUF A GROUPB

Number of patients Few Few
Current health Moderately 11l Mildly 11l
Life expectancy without Less than 1 year 1 to 5 years
treatment
Health gain with treatment Minimal Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B |

Divide funds equally between the groups [

Let someone else decide O

GROUFP A GROUP B

Number of patients Many Many
Current health Severely ill Mildly i1l
Life expectancy without Less than 1 year 1to 5 years
treatment
Health gain with treatment Moderate Maximum

Please check one of the following boxes:

Fund Group A [}

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O
QUESTION 12

GROUF A GROUF B

Number of patients Few Few
Current health Moderately ill Mildly 11l
Life expectancy without 1to 5 years More than 5 years
treatment
Health gain with treatment Moderate Maximum

Please check one of the following boxes:

Fund Group A O

Fund Group B ]

Divide funds equally between the groups [

Let someone else decide O




QUESTION 13

QUESTION 15

GROUP A GROUP B

Number of patients Few Many
Current health Mildly 11l Moderately 11l
Life expectancy without 1 to 5 vears More than 5 years
treatment
Health gain with treatment Moderate Minimal

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide fonds equally between the groups [

Let someone else decide O
QUESTION 14

GROUF A GROUFP B

Number of patients Few Few
Current health Severely ill Severely 1ll
Life expectancy without Less than 1 year 110 5 years
treatment
Health gain with treatment Minimal Moderate

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups O

Let someone else decide O

GROUF A GROUP B

Number of patients Few Few
Current health Severely ill Mildly 11l
Life expectancy without More than 3 vears More than 5 years
treatment
Health gain with treatment Moderate Maximum

Please check one of the following boxes:

Fund Group A O

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O
QUESTION 16

GROUP A GROUP B

Number of patients Many Many
Current health Moderately 11l Severely i1l
Life expectancy without Less than 1 year More than 5 years
treatment
Health gain with treatment Minimal Minimal

Please check one of the following boxes:

Fund Group A O

Fund Group B [}

Divide funds equally between the groups [

Let someone else decide O




QUESTION 17

GROUP A GROUP B
Number of patients Many Many
Current health Severely 11l Severely ill
Life expectancy without More than 5 vears 1to 5 years
treatment
Health gain with treatment Moderate Maximum

Please check one of the following boxes:

Fund Group A ]

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O
QUESTION 18

GROUP A GROUP B

Number of patients Few Many
Current health Mildly a1l Moderately 11l
Life expectancy without 1 to 5 years Morte than 5 years
treatment
Health gain with treatment Moderate Minimal

Please check one of the following boxes:

Fund Group A [}

Fund Group B O

Divide funds equally between the groups [

Let someone else decide O




Exercise 1

Technology profiles for expert witness panel

Name of technology: Everolimus for Tuberous Sclerosis Complex

What is it?

Everolimus is a drug taken by mouth every day that helps to shrink non-cancerous tumours that
can grow in the brain, kidneys, lungs, and skin of patients with Tuberous Sclerosis Complex
(TSC). The tumours are called subependymal giant cell tumours [SEGA). TSC is a rare genetic
disorder. Mutations in two genes cause cells to divide in an uncontrolled way, leading to the
development of tumours in multiple organs in the body. Everolimus works by stopping a
particular protein that triggers cells to grow and divide from working properly. In this way, it is
able to slow down or stop the tumours from continuing to grow. Patients treated with
Everolimus take this drug for the rest of their lives.

What might it replace?

Depending on the location of tumours, they may be surgically removed. However, while the
tumeours are slow growing and non-cancerous, they can come back after surgery. Tumours on
the skin may be treated with lasers. Tumours in the brain can block the flow of fluids around
the brain, causing a build-up of pressure. The tumours can also cause seizures, developmental
delays, and behavioural problems. Anti-epileptic medications may help to contrel the seizures.

Who might benefit?

TSC affects 1 in 6,000 births. Approximately 3,500 Canadians have TSC. Patients whose tumours
cannot be removed through surgery could benefit from Everolimus. Patients who continue to
develop tumours despite surgery could also benefit from Everolimus.

How might they benefit?

Although the tumours are slow growing, they can affect how organs function and cause sudden
death. By shrinking or stopping the growth of these tumours, further damage to organs may be
prevented and seizures may be reduced. The risk of developing fluid on the brain may be
reduced. About 25% of patients on Everolimus experience fever and acne. About 80% develop
small sores in the mouth or on the lips, similar to canker sores.

What happens if it isn't funded?
Patients will continue to receive treatment to manage symptoms, such as surgery and anti-
epileptic drugs.

Mame of technology: Eliglustat for Gaucher Disease

What is it?

Eliglustat is a drug taken by mouth every day that replaces an enzyme lacking in patients with
Gaucher Disease. Therefore, it is called an enzyme replacement therapy (ERT). Itis not a cure,
so patients need to take the drug for the rest of their lives in order to continue to receive
benefit from the treatment.

Gaucher Disease is caused by a genetic mutation received from both parents. The mutation
prevents the body from making enough of a specific enzyme needed to break down or digest a
fatty substance, called a lipid, produced when red blood cells are recycled by the body. As a
result, cells fill up with undigested lipid. These cells are called Gaucher cells. They build upin
many places in the body, but most commeonly the liver, spleen and bone marrow, where it
interferes with normal functions, such as the production of platelets and red blood cells. This
results in bleeding, bruising, anemia, and massive enlargement of the spleen and liver. The lipid
also triggers the loss of minerals in the bones and reduced blood flow, causing significant pain
and weakening of the bones.

There are three types of Gaucher disease. The most common form is Type 1. The different

types are based on whether there is neurclogical involvement. Patients with Type 1 have no
neurclogical involvement. Since Eliglustat cannot cross the blood brain barrier, it is used for
patients with Type 1 Gaucher disease.

What might it replace?

Currently, patients with Type 1 Gaucher Disease are treated with enzyme replacement therapy
that is given intravenously over 1 to 2 hours every 2 weeks. Like the oral therapy, it is not a cure,
so patients need to continue to receive the infusions in order to experience benefit. The
treatment has been shown to relieve and, in some cases, reverse the symptoms of the disease.
Less than 15% of patients experience side effects to the treatment, all of which are temporary.
Many are infusion reactions, which can be controlled or prevented by administering medications
before the infusion.

Who might benefit?
Type 1 Gaucher Disease affects 1 in every 100,000 individuals in Canada. Patients who are
currently receiving intravenous ERT may benefit from Eliglustat.

How might they benefit?

Since Eliglustat is taken by mouth, patients do not need to go for infusions every 2 weeks.
Common side effects include stomach discomfort, bloating, and pain in the arms and legs, which
can be managed without medical attention.

What happens if it isnt funded?
Patients will continue to receive ERT intravenously.



MName of technology: Smart-e-pants - Special therapeutic underwear for prevention of
pressure ulcers

What is it?

Smart-e-Pants are a new tool to prevent pressure ulcers (also called pressure sores or bedsores).
These undergarments, which look like bicycle shorts, contain electrodes that painlessly
stimulate the nerves and gluteal muscles (in the buttocks), increasing circulation at the base of
the spine. In this way, the pants mimic the movements of able-bodied people whose tissues
receive much-needed oxygen and blood flow.

Pressure ulcers can be superficial skin injuries, but often they are serious, deep tissue wounds
that are painful, difficult to heal, and increase the risk for further adverse events, such as
infection.

What might it replace?

Current ways to prevent pressure ulcers include regular turning of patients by nursing staff and
other caregivers, training patients to practice movement exercises to relieve pressure at regular
intervals, and the use of special wheelchair cushions, mattress covers and beds. Preventing
pressure ulcers reguires the use of many different interventions but, overall, preventive
measures are less costly than the costs of treating pressure ulcers.

Who might benefit?

Patients with mobility issues, such as those confined to wheelchairs due to spinal cord injuries
or confined to beds at home or in long-term care facilities could benefit from Smart-e-Pants.
About 86,000 Canadians have spinal cord injuries. Over their lifetime, most (86%) will develop
pressure ulcers. In addition, over 200,000 Canadians live in nursing homes or long-term care
facilities. Many of these individuals are bed-ridden or in wheelchairs for much of their day.
Pressure ulcers can develop in a matter of days, or even hours, in individuals who are immaobile,
and particularly in those with fragile skin due to age, poor circulation or atrophied muscles.

How might they benefit?

Preventing pressure ulcers increases individuals” quality of life, and decreases pain, as well as
the need for intensive cutpatient wound care or hospitalization. Smart-e-Pants are worn for
about 12 hours per day. The electrical stimulation improves muscle tone and tissue circulation in
the buttocks area — the area most susceptible to pressure ulcers. Because the pants may reduce
the need for frequent turning and repositioning by others, patients may feel more independent,
improving emotional well-being.

What happens if it isn't funded?

Despite the use of other best practice interventions, many patients still develop pressure ulcers
which put them at risk for further health problems and the likelihood they will require more
care.

Name of technology: Robotic surgery for prostate cancer

What is it?

Robotic surgery or robot-assisted surgery uses robotic devices to help surgeons perform
complex procedures, such as prostate cancer surgery, with greater precision, flexibility and
control. This allows for more precise removal of the cancer while minimizing surgical nerve
damage that may cause permanent urinary incontinence or impotence.

Prostate cancer is usually affects older men (over the age 60). Often, it is a slow growing cancer
that does not cause symptoms, so monitoring, rather than active treatment, may be an option
for some men. However, some prostate cancers are more aggressive and are likely to spread
beyond the prostate gland if not removed. Also, as the cancer grows within the prostate, it
blocks the genitourinary tract, causing problems with urination and defecation. Surgical
removal of the prostate gland and some of the surrounding tissue (radical prostatectomy) is the
main treatment option.

What might it replace? Other options

Currently, the prostate gland is removed through conventional surgical techniques called a
radical prostatectomy. With conventional technigues, 50% to 90% of patients experience
permanent side effects, including incontinence and impotence.

Who might benefit?

Prostate cancer is the most common cancer in men. Each year, over 23,000 men in Canada are
diagnosed with prostate cancer, and approximately 4,000 will die from this disease. For many of
these men, the prostate cancer will not cause symptoms, and they will eventually die from other
causes. However, in Canada, about 8,000 men each year will need prostate surgery for cancer
treatment.

How might they benefit?

Preservation of the nerves surrounding the prostate is important to ensure normal urinary tract
function and to avoid causing impotence. Less invasive surgery using robotic guidance may also
mean less risk of surgical or wound infection, a shorter hospital stay, and faster patient
recovery.

What happens if it isn't funded?

If robotic surgery is not funded, patients will continue to undergo radical prostatectomy. Some
patients may refuse this treatment, knowing that it may cause permanent side effects
(incontinence and impotence), which can significantly affect their quality of life.



Name of technology: Hepatitis C Screening

What is it?
Hepatitis C screening involves a blood test for specific antibodies to the hepatitis C virus and can
detect the disease in patients without symptoms.

Hepatitis C is an infectious disease that primarily affects the liver. It is spread through contact
with infected blood. Risk factors for hepatitis C include sharing needles for injected drug use
with an infected person; having sexual intercourse with an infected person; being pricked by a
needle with infected blood on it {which can happen in certain occupations, such as nursing);
getting a tattoo, piercing, manicure, pedicure, or other medical or dental procedure with
contaminated equipment; being born to an infected mother; or having had a blood transfusion
or organ transplant prior to 1992 in Canada.

Many people infected with hepatitis C do not know they have the disease because they do not
have any symptoms or they experience symptoms many years after infection. The hepatitis C
virus can be spread to others during this time. Often by the time that symptoms of hepatitis
occur, the liver is already severely damaged.

What might it replace?
Currently, there is no hepatitis C screening program in Alberta.

Who might benefit?
It has been estimated that there are currently about 250,000 people in Canada with hepatitis C.
However, there may be many more, since most people have no symptoms.

How might they benefit?

Hepatitis C screening could lead to an early diagnosis of the disease, which may prevent liver
scarring, liver failure, and liver cancer. Thus, patients could experience improvements in quality
of life and survival. It could also prevent the spread of hepatitis C within the community.

What happens if it isn't funded?
If hepatitis C screening isn’t funded, many people living with the hepatitis C virus will remain
undiagnosed until they experience symptoms. They will continue to infect other individuals.



Technology profiles for Jurors
Technology name: Insulin Pump Therapy for Type 1 Diabetes

What is it?

Insulin pump therapy (IPT) is a way of controlling blood sugar in patients with Type 1 Diabetes.

Type 1 Diabetes is an autoimmune disease where the pancreas does not produce insulin, a hormone
that controls the level of glucose (sugar) in your blood. Insulin pumps are small automated devices that
deliver insulin to the body through a plastic tube. The tubing is inserted into the skin using a small
needle and taped in place and the pump is worn outside the body (e.g., in your pocket). Insulin pumps
mimic the natural release of insulin by the pancreas through two insulin delivery systems: 1) a steady
systemn programmed to deliver a small amount of insulin continuously between meals and during sleep,
and 2) a bolus system programmed to deliver a larger amount of insulin before snacks and meals or to
correct a high blood glucose level.

What might it replace?

The standard treatment for Type 1 Diabetes is multiple dose insulin injections, which involve using a
needle and syringe or insulin pen to inject a mixture of different insulin types throughout the day and
night.

who might benefit?

Type 1 Diabetes is usually diagnosed in childhood or adolescence. It accounts for about 5% of all
Diabetes and is estimated to affect nearly 100,000 Canadians. Insulin pump therapy is not suitable for all
patients with Type 1 Diabetes but can be particularly useful for young children, patients with a lifestyle
that makes multiple insulin injections difficult, such as competitive athletes, or patients who are not able
to control their blood glucose using multiple insulin injections.

How might they benefit?

Insulin pump therapy is a predictable and precise method of delivering insulin to the body without
having to perform multiple insulin injections throughout the day and night. As a result, patients on
insulin pump therapy may experience less pain and discomfort, less embarrassment, and improved
ability to function physically (less episodes of high and low blood glucose, improved sleep and energy).
Caregivers of patients using insulin pump therapy may also experience less stress and anxiety (less time
worrying about giving insulin injections and mere time for themselves and other family activities),
improved ability to function physically (better sleep and increased energy) and better predictability for
daily planning. Some parents of young children are able to return to work, since they don’t need to be
there to inject multiple doses of insulin.

What happens if it isn't funded?
Without insulin pump therapy, patients with Type 1 Diabetes will continue to manage high blood
glucose with multiple dose insulin injections.

Technology name: Zostavax® Vaccine for Shingles

What is it?

Zostavax® is a vaccine that can protect men and women 50 years of age and older from shingles.
Shingles is a disease caused by a reactivation of the virus that causes chickenpox. The Zostavax® vaccine
contains a weakened version of the chickenpox virus which, once injected into the body, boosts the
immune system to help prevent shingles. Zostavax® does not guarantee that individuals will not contract
shingles, but it can reduce the duration and severity of the disease and the chances of experiencing
complications associated with the disease.

What might it replace?

There is no alternative shingles vaccine. Varivax®, a routine childhood vaccine used to prevent
chickenpox, has been shown to reduce the chances of contracting shingles. Similar to Zostavax®,
Varivax® can reduce the severity of the disease and the chances of experiencing complications
associated with the disease.

Who might benefit?
About 130,000 Canadians are diagnosed with shingles each year. About 1 in 3 Canadians will get
shingles in their lifetime. It typically occurs in older adults and immunocompromised individuals.

How might they benefit?

Shingles often presents as a rash, typically on the face or torso (the main part of the body to which the
neck and limbs are attached). The rash eventually blisters, scabs and may cause scarring. Nerve pain is
the most common complication of shingles, and it may last for several months after the rash is gone.
Zostavax® can reduce the pain and disfigurement (rash) associated with shingles and improve their
ability to function physically (better mobility and sleep). Caregivers of people who receive Zostavax®
may experience less stress and anxiety, since it can be emotionally difficult to take care of someone who
is experiencing pain and discomfort. Zostavax® contributes to the innovation of new prevention
strategies for shingles and an understanding of the nature of the virus in relation to the chickenpox
virus, Also, the vaccine may reduce health care costs associated with treating shingles.

What happens if it isn't funded?

Currently, there is no treatment for shingles. Patients with shingles use antiviral and pain medications to
reduce the pain and duration of shingles. If Zostavax® isn't funded, people will have a higher chance of
getting shingles. If patients do get shingles, they will continue to manage it with antiviral and pain
medications. Children will continue to receive the chickenpox vaccine to reduce their chances of
contracting chickenpox and shingles.



Technology name: Preventive breast and ovary removal for women with a rare gene that predisposes
them to breast and ovarian cancer

What is it?

Prophylactic surgical removal of both breasts (bilateral mastectomy) and ovaries (cophorectomy) is
performed to reduce the risk of developing breast or ovarian cancer in women who have a family history
that increases their risk of developing these diseases.

‘What might it replace?

Currently, genetic testing to identify women at risk, and regular monitoring to ensure early detection of
cancers, such as with annual mammograms, physical examination, and blood tests, are the main options
for these women.

Who might benefit?

Each year, about 24,000 women in Canada are diagnosed with breast cancer and about 5,000 women
will die from the disease. Similarly, 2,700 Canadian women are diagnosed with ovarian cancer each year,
and approximately 1,750 will die from this disease. An estimated 5% to 10% of these women carry a
genetic mutation {BRCAL and / or BRCAZ2) that puts them at a much higher risk for both breast and
ovarian cancer. The prevalence of the BRCA1/2 mutations is estimated to be from one in 500 to one in
1,000 Canadian women. Current guidelines recommend that women with a family history of breast or
ovarian cancer receive genetic testing.

How might they benefit?

In women with the BRCA1/2 mutations, preventive removal of the breasts and ovaries substantially
reduces the risk of developing these cancers (reduced to about 5% from 40% to 50%). For many,
particularly those who have had their children, preventive surgery is appealing because decreasing their
risk of developing these cancers reduces anxiety and improves their quality of life — despite the surgical
risks involved.

What happens if it isn"t funded?
Genetic testing to identify women at risk and regular monitoring to ensure early detection of cancers
will continue to be provided.

Technology name: Anaplastic Lymphoma Kinase (ALK)) screening

What is it?

ALK screening is a test used to screen tissue samples from tumours in patients with non-small cell lung
cancer (NSCLC) for a particular mutation called the ALK mutation. Only patients with this mutation have
been shown to respond to a chemotherapy called crizotinib. While crizotinib is not curative, patients
who receive this chemotherapy experience less pain and coughing.

What might it replace?
ALK screening would not replace any one specific type of cancer screening method.

Who might benefit?

The ALK mutation is found in 2% to 7% of NSCLCs, which represents 1, 462 individuals per year in
Canada. ALK positive patients have the worst outcomes of all lung cancer patients, with an average
overall survival of approximately 1 year.

How might they benefit?

Patients whose tumours have the ALK mutation would receive crizotinib, a targeted chemotherapy. ALK
positive patients on crizotinib gain 6 months during which the cancer doesn't progress, compared to 3
months on standard treatment. They also have a better quality of life, experiencing less coughing and
pain. While their chances of living past one year are only marginally better than with standard
treatment, this additional time may be give them the opportunity to get their affairs in order.

What happens if it isn’t funded?
Patients will continue to be treated with general, non-targeted chemotherapies, but may not live as long
as they would have otherwise and may have a poorer quality of life.



Technology name: Ivacaftor for Cystic Fibrosis

What is it?

Ivacaftor is a drug that helps patients with Cystic Fibrosis (CF) who have a specific mutation in one of
their genes. This mutation produces a faulty protein that does not function properly. Ivacaftor helps
restore the function of the protein, allowing for a proper flow of salt and fluids on the surface of the
lungs. This helps to thin and loosen the think, sticky mucous that builds up in the lungs of CF patients.

Patients with CF experience symptoms such as persistent cough with thick mucus, wheezing and
shortness of breath, metabolism problems, and frequent chest infections (which can eventually become
life-threatening). Most patients do not live beyond 50 years of age.

What might it replace?

Current treatment for CF patients involves managing the symptoms of the disease, or problems that
occur as a result of the symptoms, such as infections. Ivacaftor does not replace current treatment. It is
taken in addition to current treatment.

Who might benefit?
Only CF patients with the specific mutation will benefit from Ivacafor. There are approximately 115 such
patients in Canada.

How might they benefit?

Patients taking Ivacaftor are able to gain weight and their lung function and overall quality of life
improves. Because lvacaftor loosens the mucus in the lungs and vital organs, it relieves some
symptoms, such as shortness of breath, and decreases the chances of getting a chest infection, which
could mean fewer hospital visits. Ivacaftor may also provide long term protection against certain organ
degeneration commonly seen in CF patients and prevent CF-related diabetes.

What happens if it isnt funded?
Patients will continue to receive treatment for symptoms only.

Technology name: Stem cell transplantation for heart failure

What is it?

Stem cells are a particular kind of cell that can produce more cells of the same or of a different cell type.
Stem cells can be produced by the body (for example, in the bone marrow) to regenerate tissue in
response to injury. They can also come from sources such as excess embryos after in-vitro fertilization
procedures, or from umbilical cords discarded after childbirth. In patients with heart failure, stem cells
are injected into the heart to help it to repair the damage and regenerate new tissue.

Heart failure is damage to the heart that prevents it from pumping encugh blood to meet the body’s
needs for oxygen. Sometimes the damage is caused by a heart attack, but it may also be caused by other
medical conditions, such as damaged heart valves, high blood pressure or diabetes. Individuals with
heart failure suffer from chronic fatigue, memory loss, fluid retention, and breathlessness from even
minimal activity, such as walking, shopping or carrying out household chores. They are at increased risk
for life-threatening conditions, such as pulmonary edema (where fluid accumulates in the lungs) and
sudden cardiac death.

What might it replace?

Lifestyle changes (diet and exercise) combined with various drug treatments are currently used to help
manage the symptoms of heart failure. In addition to drug treatments, patients with severe heart failure
may have implantable cardioverter defibrillators, pacemakers, or other “heart assist” devices surgically
inserted into their chests.

Who might benefit?

Heart disease is the second leading cause of death in Canada (after cancer). Over 33,000 Canadians die
as a result of heart disease each year and about 1.4 million Canadians are living with heart disease. Of
these, about 500,000 Canadians have heart failure.

How might they benefit?

Stem cells injected into the heart can help it to repair the damage, for example, the massive cell damage
that follows a heart attack, and regenerate new tissue that improves the heart’s ability te function,
increasing patients’ wellbeing (e.g., energy level and mental functioning) and allowing them to resume
their normal daily activities.

What happens if it isn"t funded?
Individuals with heart failure will continue to receive drug therapies and implanted medical devices., and
some will remain unable to carry out many activities of normal life.



Technology name: Monoclonal antibody treatment for high cholesterol

What is monoclonal antibody treatment?

Antibodies are proteins made by the immune system that identify and destroy foreign substances in the
body (e.g., bacteria). An antibody that targets one specific substance is called a moneclonal antibody
{mab). Alirocumab and Evolocumab are 2 maAbs that have been produced to help treat high cholesterol.

Cholesterol is a fat-like substance that is essential to the functioning of the human body. It occursin 2
forms: high density lipoprotein cholesterol (HOL-C or “good” cholesterol) and low density lipoprotein
cholesterol (LOL-C or “bad” cholesterol). High LDL-C levels can lead to heart disease and increased risk of
heart-related events (i.e., heart attack and stroke). A substance in the body called PCSKS is known to
increase levels of the “bad” cholesterol by stopping its breakdown. Alirocumab and Evolucumab target
and destroy PCSKS. Both maAb treatments are taken by patients every 2 to 4 weeks for life through a
self-administered injection.

What might it replace?

Currently, statins, which prevent the production of cholesterol in the body, are used to treat high
cholesterol. Once started, statins usually have to be taken daily for life. Though they are generally well-
tolerated, statins have some minor side-effects (e.g., muscle and joint aches, headache, nausea) and
some rare, serious side-effects (e.g., muscle problems, type 2 diabetes). Some patients are unable to
significantly lower their “bad” cholesterol levels with statins, while others are unable to tolerate
effective doses of these drugs. These patients remain at high risk for heart-related events.

Who might benefit?

Alirocumab and Evolocumab may benefit patients who have severe forms of high cholesterol or are at
high risk of heart-related events, who are intolerant to statins or whose LDL-C levels are not controlled
by statins.

It is estimated that over 7 million Canadians have unhealthy levels of LDL-C (“bad” cholesterol).
Approximately 8% are on statins. About half of patients on statins do not achieve their target level of
LDL-C, though this may be partially due to dosages being too low.

How might they benefit?

Alirocumab and Evolocumab significantly reduces LDL-C levels in patients, including those who are
already taking the highest dose of the most effective statin available. The cholesterol-lowering effects of
these mabs will help to reduce the risk of heart disease, heart attacks and strokes.

In general, Alirocumab and Evolocumab are examples of the innovative work being done to translate
genetics research directly into new therapies. Their development has contributed to increased
understanding of bodily processes involving cholesterol.

What happens if it isn"t funded?

If mAbs are not funded, patients will continue to receive maximal doses of statin therapy, if possible.
Those with high LCL-C levels despite the use of statins will remain at high risk for developing heart
disease or experiencing heart-related events.

Technology name: Glycerol phenylbutyrate for urea cycle disorder

What is it?

Glycerol phenylbutyrate is a drug that treats people 2 years of age and older with severe urea cycle
disorders (UCDs). A urea cycle disorder is a genetic condition where the body does not produce enough
of 1 of the 6 enzymes needed to remove ammonia from the blood. When ammaonia is allowed to build
up in the blood, it becomes toxic, and causes behavior problems, low energy, confusion, and memory
problems. Ower time, it can cause irreversible brain damage, coma and death. Most people with urea
cycle disorders are diagnosed as infants.

Glycerol phenylbutyrate helps prevent a build-up of ammonia in the blood. It does not reverse any brain
damage if it has already occurred. Glycerol phenylbutyrate is a liquid, and patients take 3 teaspoons per
day for the rest of their lives.

What might it replace?

Currently, patients with severe UCD are treated with a drug called sedium phenylbutyrate. This drug,
which comes in pill form,works as well as glycerol phenylbutyrate at preventing ammonia from building
up in the blood. However, it tastes and smells very bad. Glycerol phenylbutyrate is an odorless,
tasteless liquid. Though many patients crush up the sodium phenylbutyrate pills and take them through
a tube in inserted directly into the stomach, those who take them by mouth find them difficult to
swallow because they taste so bad. Some patients have to take up to 40 pills a day. Sodium
phenylbutyrate also causes an unfavourable body odor in some patients. Their breath and sweat smell
musty or like rotten eggs. Patients on either drug still need to follow a strict low-protein diet because
digesting protein increases blood ammonia levels.

Who might benefit?
Urea cycle disorders affect 1 in every 35,000 births, which means there are about 1000 patients in
Canada with a urea cycle disorder.

How might they benefit?

Glycerol phenylbutyrate is easier to take (3 teaspoons of an odorless colorless liguid compared to 40
pills that taste very bad) and easier for caregivers to help administer. Also, patients with extremely high
blood pressure who cannot tolerate the sodium from the sodium phenylbutyrate can be treated with
glycerol phenylbutyrate. Patients would not have to deal with the unpleasant body odor associated
with the sodium phenylbutyrate and all the ways that it affects sense of self and relationships with
others,

What happens if it isn't funded?
If it isn"t funded, patients will continue on the sodium formulation of the therapy.



Technology name: Gene therapy for choroideremia

What is it?

Gene therapy is a treatment for choroideremia that inveolves injecting a healthy copy of a gene into
retina cells in the eye to restore normal function of the eye. Choroideremia is a rare genetic condition in
which a faulty gene produces faulty proteins that slowly damage the retina of the eye, causing
progressive vision loss and eventually complete blindness. Patients with choroideremia usually start to
lose their vision in grade school and become legally blind by 40 years of age. Choroideremia affects

males and females differently. While females lose some of their vision, males tend to go completely
blind.

‘What might it replace?
There is no other treatment for choroideremia. Standard care is regular monitoring for changes or
complications.

‘Who might benefit?
Choroideremia affects 1 in every 50,000 Canadian men, which means that there are about 700 men with
choroideremia in Canada.

How might they benefit?

While gene therapy isn’t expected to cure someone who is already blind, it may be able to improve sight
in those who are going blind and delay further progression toward blindness. This would allow patients
to continue activities that they may have otherwise had to give up as their vision worsened. For
example, they may be able to continue to drive, increasing their self-sufficiency and reducing any
burden on families and caregivers.

Because this treatment is one of the first gene therapies available to patients, society may benefit from
an increase in scientific understanding around how the body responds to the copied gene over time and
how to copy other genes for other diseases that have no cure.

What happens if it isn't funded?
If it isn't funded, patients with choroideremia will experience the regular progression toward complete
blindness.

Technology name: Dialectical behavior therapy (DBT) for suicide prevention in teenagers

What is it?

Dialectical behavior therapy (DBT) is a type of cognitive behavioural therapy (CBT) that helps people
change patterns of behavior that are harmful, like suicidal thinking. It includes 4 components: 1) skills
training group to teach behavioural skills through weekly group meetings over 24 weeks, 2) individual
treatment, which runs concurrently with skills group and focuses on applying skills to specific challenges,
3) phone coaching that provides in-the-moment coaching on how to use skills to cope with difficult
situations that arise in everyday life, and 4) a consultation team to provide support for DBT therapists.
The skills training comprises four modules: 1) mindfulness — the practice of being full aware and present
in this moment, 2) distress tolerance — how to tolerate pain in difficult situations, 3) interpersonal
effectiveness — how to ask for what you want and say no while maintaining self-respect and
relationships with others and 4] emotion regulation — how to change emotions that you want to change.

In teenagers with persistent suicidal thoughts, DBT significantly reduces self-reported depression,
hopelessness and episodes of deliberate self-harm.

What might it replace?

Current treatments include short-term counselling, medications, problem solving psychotherapy, other
forms of CBT, and regular review sessions with a clinical psychologist or psychiatrist. However, they may
not be as effective or accessible to everyone, since clinical psychologist services are not covered by
public health insurance.

Who might benefit?

In Canada, suicide is the second highest cause of death for youth aged 10-19. Each year, on average, 250
youths die from suicide. Many more attempt suicide. It is estimated that there are 20 suicide attempts
for every suicide.

How might they benefit?

Feelings of “wanting to hurt self” or “wanting to kill self” may be significantly reduced, improving
quality of life and ability to become a healthy, productive adult. The emotional well-being of parents
may also improve, since there is less worry that their child may commit suicide.

What happens if it isn't funded?
Teenagers will continue to have access to services currently available.



Exercise 2 (‘Does it matter who benefits and by how much?’) Questions

Group 1

Question 1:

‘Which of the following would you prefer?

Question 4:

‘Which of the following would you prefer?

Patient Benefit Larg= Small Patient Benefit Larg= Smaill
Caregiver Benefit Smal Or Lang= Caregiver Benefit Smal Or Small
Societal Benefit Smal Small Societsl Benefit S Larg=
Option 1 pticn Option 1 Opticn
Mre you certain or uncertainabout your choie? Mire you certain or unoertsinabout your choie?
[ cartzin [ cartzin
DLr:e-h'r |:|L.r:|e11'r
Question 2: Question 5:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Smal Medim Patient Benefit Smal Me=diiam
Caregiver Benefit Medium Or Small Caregiver Benefit Smal Or Small
Societal Benefit Smal Small Societal Beneft Medium Small
Option 1 Opticn Option 1 Option
Mre you certain or uncertainabout your choie? Mire ywou certain or uncertainabout your choie?
[ cartzin [ cartzin
DLr:\:'ﬁ'r |:|L.r::-n'r
Question 3: Question &:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Medium Patient Benefit Larg= Medium
Caregiver Benefit Me=dium Or Large= Caregiver Benefit Smal Or Small
Societal Benefit Smal Small Societsl Benefit Mediium Larg=
Option 1 Opticn Option 1 Dption 2
Mre you certain or uncertainabout your choie?

I:l Certaiin
D Uncertain

Mire ywou certain or uncertainabout your choie?
[ cartzin
D Uncertain




Question 7:

‘Which of the following would you prefer?

Question 10:

‘Which of the following would you prefer?

Patient Benefit Smal Small Patient Benefit Smal Lang=
Caregiver Benefit Larg= Or Small Caregiver Benefit Medium Or Smaill
Societal Benefit Smal Larg= Sodietal Benefit Larg= Medium
Option 1 Opticn 2 Option 1 Dption 2
MAre you certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
I:I Certain I:l Certain
I:IL.r:e-h'r DLr:e-n'r
Question 3: CQuestion 11:
Which of the following would you prefer? Which of the following would you prefer?

Patient Benefit Smal Small Patient Benefit Smal Lanz=
Caregiver Benefit Smal Or Medium Caregiver Benefit Larg= Or Medium
Societal Benefit M=diam: Small Societal Beneft Medium Small

Option 1 Opticn 2 Option 1 Dption 2
MAre you certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
[Jcertzin [ cartzin
I:IL.r:e-h'r DLr:e-n'r
Question 5: Question 12:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Smal Small Patient Benefit Medium Small
Caregiver Benefit Larg= Or Medium Caregiver Benefit Smal Or Lang=
Societal Benefit Mediam Larg= Sodietal Benefit Larg= Smaill
Option 1 Opticn 2 Option 1 Dption 2
MAre you certain or uncertainabout your choie?

[ certain
D Uncertain

Are you certain or uncertainabout your choie?
[ cartain
I:‘ Uncertain




Question 13:

‘Which of the following would you prefer?

Question 16:

‘Which of the following would you prefer?

Patient Benefit M=dim Small
Caregiver Benefit Large Or Small
Societal Benefit Smal Larz=
Option 1 Option
Mre you certain or uncertainabout your choie?
[Jcartain
D Unecertain
Question 14:
‘Which of the following would you prefer?
Patient Benefit Smal Medium
Caregiver Benefit Larg= Or Smaill
Societal Benefit Smal Small
Option 1 Option
Mre you certain or uncertainabout your choie?
I:l Certain
D Unecertain
Question 15:
Which of the following would you prefer?
Patient Benefit Ml=divam Lanz=
Caregiver Benefit Larg= Or Smaill
Societal Benefit Smal Small
Option 1 pticn 2

Mre you certain or uncertainabout your choie?
[Jcertzin
D Unecertain

Patient Benefit Smal h=dium
Caregiver Benefit Smal Or Small
Societal Benefit Larg= Small
Option 1 Option 2
Mre you certain or unoertainabout your choie?
[ cartzin
D Uncertain
Question 17:
‘Which of the following would you prefer?
Patient Benefit Medium Larg=
Caregiver Benefit Smai Or Small
Societal Benefit Larg= Small
Option 1 Option 2
Mre you certain or unoertainabout your choie?
I:l Cartain
I:‘ Uncertain
Question 13:
Which of the following would you prefer?
Patient Benefit Ema Medium
Caregiver Benefit Medium Or Small
Societal Benefit Larg= Small
Option 1 Option 2

Mre you certain or unoertainabout your choie?
[ certzin

I:‘ Uncertzin




Question 19:

‘Which of the following would you prefer?

Question 22:

‘Which of the following would you prefer?

Patient Benefit Larg= Small Patient Benefit Smal Small
Caregiver Benefit Smal Or Me=diium Caregreer Benefit Medium Or Larg=
Sodetal Benefit Smal Small Societal Benefit Larg= Small
Option 1 Option 2 Option 1 Opticn 2
Mre you oertain or uncertEinabout your choie? Mre your Dertain or unoertEinabout your choie?
[ cartain [ cartsin
I:‘L.r:e-n'r DLr:e-n'r
Question 20: Question 23:
‘Which of the following would you prefer? ‘Which of the following would you prefer?

Patient Benefit Lange Small Patient Benefit Lange Small
Caregiver Benefit Medium Or Large Caregreer Benefit Smal Or Medium
Sodetal Benefit Smal Small Societal Benefit Larg= Small

Dption 1 Dption 2 DOption 1 Dption 2
Mre you certain or uncertainabout your choie? Mre you certain or uncertainabout your choie?
[ cartain [ cartsin
I:‘L.r:e-n'r DLr:e-n'r
Question 21: Question 24:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Smal Small Patient Benefit Larg= Small
Caregiver Benefit Smal Or Me=diium Caregreer Benefit Smal Or Small
Sodetal Benefit Larg= Small Societal Benefit Medium Larg=
Option 1 Option 2 Option 1 pticn 2
Mre you certain or uncertainabout your choie?

I:l Certain

I:‘ Uncertain

Mre you certain or uncertainabout your choie?
[ cartsin

I:‘ Uncertain




Question 25:

‘Which of the following would you prefer?

Question 23:

‘Which of the following would you prefer?

Patient Benefit Smal Larg= Patient Benefit Larg= Smaill
Caregiver Benefit Smal Or Small Caregiver Benefit Medium Or Small
Societal Benefit Larg= Small Socdietal Benefit Smal Medium
Option 1 Opticn 2 Option 1 Dption 2
Mre wou certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
[Jcartsin [ cartzin
DLr:e'n'r DLr:e-n'r
Question 26 Question 25:
‘Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Smal Small Patient Benefit Smal Lairz=
Caregiver Benefit Larg= Or Small Caregiver Benefit Medium Or Smaill
Societal Benefit Miediam Larg= Socdietal Benefit Larg= Medium
Option 1 Opticn 2 Option 1 Dption 2
Mre wou certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
[Jcertsin [ Certzin
DLr:e'n'r DLr:e-n'r
m
Question 27:
Which of the following would you prefer?
Patient Benefit Smal Small
Caregiver Benefit Larg= Or Small
Societal Benefit Smal Medim
Option 1 Opticn 2

Mre wou certain or uncertainabout your choie?
[Jcertain
D Uncertain




Group 2

Question 1: Question 2:

‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Small Patient Benefit S Medium
Caregiver Benefit Smal Or Larg= Caregiver Benefit Mediium Or Smaill
Societsl Benefit Medium Medium Societsl Benefit Medium Madium
Option 1 Opticn 2 Option 1 Dption 2
Mre wou oertain or wnosrtzinabout your choie? Mre o certain or uncertainabout your choie?

[ certsin [ cartsin
I:IL.r:e-h'r DLr:e-n'r

Question 3: Question 4:

‘Which of the following would you prefer? ‘Which of the following would you prefer?

Patient Benefit Larg= Medium Patient Benefit Larg= Smaill
Caregiver Benefit Medium Or Larg= Caregiver Benefit Mediium Or Medium
Societal Benefit Me=dium Medium Societal Benefit Smal Larg=
Option 1 Opticn 2 Option 1 Dption 2
Mire wou oertzin or wnosrtzinabout your choie? Lyre wou oertain or unoertzinabout your chose?
[ cartzin [ cartzin
I:IL.r:e-h'r DLr:e-n'r
1
CQuestion 5: Question &:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Smal Medium Patient Benefit Larg= Medium
Caregiver Benefit Medium Or Medium Caregiver Benefit Mediium Or Medium
Societal Benefit Me=diium Small Societal Beneft Medium Large
Option 1 Opticn 2 Option 1 Dption 2
Mre you oertain or uncertainabout your choie?

[ cartzin
D Uncertain

Myre you oertain or uncertainabout your choie?
[ cartzin
D Uncertain




Question 7: Question 8:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Me=diium Medim Patient Benefit Medium Me=diiam
Caregiver Benefit Larg= Or Small Caregiver Benefit S Or Medium
Societal Benefit Smal Larg= Societsl Benefit Mediium Smaill
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mire ywou certain or uncertainabout your choie?
I:I Certain I:l Certain
I:IL.r:e-h'r DLr:e-n'r
Question 9: CQuestion 10:
Which of the following would you prefer? Which of the following would you prafer?
Patient Benefit Medium Mediam Patient Benefit Smal Larze
Caregiver Benefit Larg= Or Medium Caregiver Benefit Mediium Or Smaill
Societal Benefit Medium Larg= Societsl Benefit Larg= Medium
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mire ywou certain or uncertainabout your choie?
[ certain [ cartain
I:IL.r:e-h'r DLr:e-n'r
'
Question 11: Question 12:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Larg= Small Patient Benefit Medium Small
Caregiver Benefit Smal Or Larg= Caregiver Benefit S Or Larg=
Societal Benefit Medium Small Societsl Benefit Larg= Smaill
Option 1 pticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie?

I:l Certaiin
D Uncertain

Mire ywou certain or uncertainabout your choie?
[ cartsin
I:‘ Uncertain




Question 13: Question 14:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Mlediam Small Patient Benefit Smal Mle=diam
Caregiver Benefit Large Or Small Caregiver Benefit Lang= Or Small
Societal Benefit Smal Larz= Societal Benefit Medium Medium
Option 1 Opticn 2 Option 1 Option 2
MAre wou certain or uncertainabout your choie? Mre you certain or wnoertain about your choie?
[ certsin [ cartsin
DLr:e-n'r DLr:e-h'r
Question 15: Question 16
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Medium Larz= Patient Benefit Sma Medium
Caregiver Benefit Larg= Or Smaill Caregiver Benefit Medium Or Medium
Societal Benefit Medium Medium Societal Benefit Larg= Small
Option 1 Opticn 2 Option 1 Option 2
MAre wou certain or uncertainabout your choie? Mre you certain or wnoertain about your choie?
I:l Certaiin I:l Ceartain
DLr:e-n'r DLr:e-h'r
Question 17: Question 13:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Melediivam Lanz= Patient Benefit Sl Mlediam
Caregiver Benefit Medium Or Medium Caregiver Benefit Larg= Or Small
Societal Benefit Larg= Smaill Societal Benefit Larg= Small
Option 1 Opticn 2 Option 1 Option 2
MAre wou certain or uncertainabout your choie?

[Jcetain
D Unczrtain

Mre you certain or wnoertain about your choie?
[ certzin

I:‘ Uncertain




Question 15:

I:l Certaiin
D Uncertain

Mire ywou certain or uncertainabout your choie?

Question 20:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Small Patient Benefit Larg= Smaill
Caregiver Benefit Smal Or Medium Caregiver Benefit Mediium Or Larg=
Societal Benefit Me=diium Medim Societal Beneft Medium Me=diiam
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mire ywou certain or uncertainabout your choie?
I:I Certain I:l Certain
I:IL.r:e-h'r DLr:e-n'r
Question 21: CQuestion 22:
Which of the following would you prefer? Which of the following would you prafer?
Patient Benefit Medium Medium Patient Benefit Medium Medium
Caregiver Benefit Smal Or Medium Caregiver Benefit Mediium Or Larg=
Societal Benefit Larg= Small Societsl Benefit Larg= Smaill
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mire ywou certain or uncertainabout your choie?
[ cartain [ cartain
I:IL.r:e-h'r DLr:e-n'r
Question 23: Question 24:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Me=diium Small Patient Benefit Lang= Small
Caregiver Benefit Smal Or Medium Caregiver Benefit Mediium Or Medium
Societal Benefit Larg= Small Societsl Benefit Mediium Larg=
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie?

[ cartsin

I:‘ Uncertain




Question 25:

‘Which of the following would you prefer?

Question 26:

I:l Certain
D Uncertain

‘Which of the following would you prefer?
Patient Benefit Smal Large Patient Benefit Medium Medium
Careghver Benefit Mledinam Or Medium Caregiver Benefit Lange Or Small
Societal Benefit Larg= Small Societal Benefit Medium Larg=
Option 1 Option 2 Option 1 Dption 2
Mre wou certain or uncertainabout your choie? Mre you certain or uncertainabout your choie?
[Jcartsin [ cartzin
DLr:e'n'r DLr:e-n'r
Question 27: Question 28:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Mediam Medium Patient Benefit Larg= Small
Caregiver Benefit Larg= Or Small Caregiver Benefit Medium Or Small
Societal Benefit Smal Medim Societal Benefit Smal M=diium
Option 1 Option 2 Option 1 Dption 2
Mre wou certain or uncertainabout your choie?

Mre you certain or uncertainabout your choie?
I:l Certain
I:‘ Uncertain

Question 29:

Which of the following would you prefer?

Patient Benefit Smal Lanm=

Caregiver Benefit Mediam Or Small
Societal Benefit Larg= Medium
Option 1 Option 2

Mre wou certain or uncertainabout your choie?
[Jcertzin

D Uncertain




Group 3

Question 1:

Question 2:

‘Which of the following would you prefer?

‘Which of the following would you prefer?
Patient Benefit Larg= Small Patient Benefit S Medium
Caregiver Benefit Smal Or Larg= Caregiver Benefit Mediium Or Smaill
Societal Benefit Lange Lange= Societal benefit Lange Lange
Option 1 Option 2 Option 1 Dption 2
Mire wou oartain or uncertzinabout your choie? Mre wour certain or uncertainabout your choie?
[ cartzin [ cartzin
I:IL.r:e-h'r DLr:e-n'r
Question 3: Question 4:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Me=dium Patient Benefit Larg= Smaill
Caregiver Benefit Medium Or Larg= Caregiver Benefit Larg= Or Large
Societal Benefit Large Large= Societal Benefit Smal Large
Option 1 Option 2 Option 1 Dption 2
Mre you oertain or wncertEinabout your choie? Mire you oertain or uncertinabout your choie?
[ cartzin [ cartzin
DLr:e-h'r DLr:e-n'r
CQuestion 5: Question &:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Smal Me=dium Patient Benefit Larg= Medium
Caregiver Benefit Larg= Or Larg= Caregiver Benefit Larg= Or Large
Societal Benefit Medium Small Sodietal Benefit Mediium Large
Option 1 Option 2 Option 1 Option 2
Mre you oertain or uncertainabout your choie? Mire you certain or uncertsinabout your choie?
[ certsin [ cartsin
D Uncertain

D Unecmrtain




Question 7: Question 3:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Larg= Patient Benefit Larg= Larg=
Caregiver Benefit Large Or Small Caregiver Benefit Smal Or Ml=dium
Societal Benefit Smal Larg= Societal Benefit Medium Small
Dption 1 Opticn 2 Option 1 Dption 2
Mre pou certain or uncertainabout your choie? Mre you certain or uncertainabout your choie?
[Jcartsin [ cartzin
DLr:e'n'r DLr:e-n'r
Question 9: Question 10:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Larg= Patient Benefit Smal Larg=
Caregiver Benefit Larg= Or Medium Caregiver Benefit Medium Or Small
Societal Benefit Miediam Larg= Societal Benefit Larg= Medium
Option 1 Opticn 2 Option 1 Dption 2
Mre pou certain or uncertainabout your choie? Mre you certain or uncertainabout your choie?
|:| Certain |:| Certain
DLr:e'n'r DLr:e-n'r
Question 11: Question 12:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Lanz= Small Patient Benefit Medium Small
Caregiver Benefit Miediam Or Small Caregiver Benefit Smal Or Larg=
Societal Benefit Smal Larg= Societal Benefit Larg= Small
Option 1 Opticn 2 Option 1 Dption 2
Mre pou certain or uncertainabout your choie?

I:l Crtain

D Uncertain

Mre you certain or uncertainabout your choie?
[ certsin

I:‘ Uncertain




Question 13: Question 14:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Mlediiam Small Patient Benefit Smal Me=dium
Caregiver Benefit Large Or Small Caregiver Benefit Lang= Or Small
Societal Benefit Smal Larg= Socdietal Benefit Larg= Lang=
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
[Jcartsin [ cartzin
DLr:e'n'r DLr:e-n'r
Question 15: Question 16:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Miediam Larg= Patient Benefit Smal Medium
Caregiver Benefit Larg= Or Small Caregiver Benefit Larg= Or Lang=
Societal Benefit Larg= Larg= Socdietal Benefit Larg= Smaill
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Are you certain or uncertainabout your choie?
[ cartain [ cartain
DLr:e'n'r DLr:e-n'r
Question 17: Question 18:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Mledivam; Lanm= Patient Benefit Smal Madium
Caregiver Benefit Larg= Or Larg= Caregiver Benefit Medium Or Smaill
Societal Benefit Larg= Small Socdietal Benefit Larg= Smaill
Option 1 Opticn 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie?

[ certzin

D Uncertain

Are you certain or uncertainabout your choie?
[ cartzin
I:‘ Uncertain




Question 15: Question 20:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Small Patient Benefit Larg= Smaill
Caregiver Benefit Smal Or Medium Caregiver Benefit Medium Or Larg=
Societal Benefit Larg= Larg= Societal Benefit Larg= Large
Dption 1 Opticn 2 Option 1 DOption 2
Mre pou certain or uncertainabout your choie? Mre wou certain or uncertainabout your choie?
[Jcartsin [ cartzin
DLr:e'n'r DLr:e-n'r
Question 21: Question 22:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Larg= Larg= Patient Benefit Larg= Large
Caregiver Benefit Smal Or Medium Caregiver Benefit Mediium Or Large
Societal Benefit Larg= Small Societal Benefit Larg= Smaill
Option 1 Opticn 2 Option 1 Dption 2
Mre pou certain or uncertainabout your choie? Mre wou certain or uncertainabout your choie?
|:| Certaiin |:| Certain
DLr:e'n'r DLr:e-n'r
Question 23: Question 24:
‘Which of the following would you prefer? ‘Which of the following would you prefer?
Patient Benefit Mlesdiivam: Small Patient Benefit Lanz= Small
Caregiver Benefit Smal Or Medium Caregiver Benefit Larg= Or Large
Societal Benefit Larg= Small Societal Benefit Mediium Large
Option 1 Opticn 2 Option 1 Dption 2
Mre pou certain or uncertainabout your choie?

I:l Certain

D Uncertain

Mre wou certain or uncertainabout your choie?
[ certsin
I:‘ Uncertain




Question 25:

‘Which of the following would you prefer?

Question 26:

‘Which of the following would you prefer?

Patient Benefit Smal Larg= Patient Benefit Larg= Large
Caregiver Benefit Larg= Or Large= Caregiver Benefit Lang= Or Small
Societal Benefit Larg= Small Sodietal Benefit Mediium Large
Option 1 Option 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mre ywou certain or uncertainabout your choie?
D Certain |:| Certain
I:IL.r:e-h'r DLr:e-n'r
Question 27: CQuestion 28:
Which of the following would you prefer? Which of the following would you prefer?
Patient Benefit Larz= Langm= Patient Benefit Lanm= Small
Caregiver Benefit Larg= Or Small Caregiver Benefit Larg= Or Smaill
Societal Benefit Smal Medim Societal Benefit Smal M=diiam
Option 1 Option 2 Option 1 Dption 2
Mre you certain or uncertainabout your choie? Mre ywou certain or uncertainabout your choie?
[ certsin [ cartzin
I:IL.r:e-h'r DLr:e-n'r
Question 25:
‘Which of the following would you prefer?
Patient Benefit Smal Large=
Caregiver Benefit Medium Or Small
Societal Benefit Larg= Me=dium
Option 1 Option 2

[ certsin

D Uncertain

Mre you certain or wnoertainabout your choie

=




Exercise 3 (‘How should differences in health gains affect our choices?’) Questions

Group 1

Question 1:
Wik of B followirg woud you pecdior?
Cume Gain Curars Gain
LR Epecmncy | L s Dyeae L ad vemer e
- Mzdeamey
Pryaical Funcsioning ey e
T BT
Pain & Discamiars Fladeae M (=4 M R change
Cogritve Funcdoning | MBSy moieed o ctmege Maderacal; oy el
I zaiwd
Cupramion & Arcasy - Mzt Savwn [
Opion 1 Ogion 3

Weuld you chamge your dicice f e pumBor of patice aficcicd| wors Sificred?
0=
0

Question 2:
Wik of B followirg wiouid you pecior?
CumeT aain Curere Gain
LR pecmncy | L e 1yeae 5 ez mank Lrafyem 5 yeense maw
Saeoaray Mizdeaney
Pryacsl Funcdioning Py imosined Fia chnpe
sk BT
Pain & Dicomias Madeaos M (=4 T M
PsdraaEy Sy fErrren
Cognitiva Funcdoning R chonge
el BT T
Cpramion & Arcasy e ey R [
Ogion 1 Ogion 2

Weuld you change your chcice f e pumBor of patice aficciod| wors Sificret?

D'h
D1=

Question 3:
Wik of B follcwirg wodid you pedia?
e Gain e Gain
Lo Gopactney | Lesfae e mane Byaana maw B chage
Pryicsl Funcaning | MUEy mIiewd Rz cmwege i T ¥ Ve
e
Fain & Dicamitars Ratrara [ o Remwra Azdncae
Tavacaly Swwaly
i R
Cogritiva Funcsianing - Ay bz g
Dugramion & Amdasy rizdean [ fr. Fex e

a a

Opedan 1 Optian 2
Weuld you chacge your chcice f e pumBor of patice? aficcicd wan Sifioee?
0=
0
1

Question 4:
Wik of B fllcwirg woudid you peio?
CumeT aain Curere Gain
L Copkcmncy | 5 veaezer manw R cmege Lkt Lo LeaS veaes
Mizdeaney e Pz
Pryaical Funcsioning oy el
Ty I el BT
Pain & Cacamdas e ey o [ Fen s
Pazdsaney Sacwray Rizdeaney
Cognithve Funcdoning Ba chongs
el BT T
Cpramion & Arcasy e d Savwm [
Ogion 1 Ogion 2

Weuld you change your chdice f e pumBor of paticea aficciod win Sifioeei?

|:|v=|
D1=

Question 5:
Wik of B follcwirg wodid you pedia?
Cume Gain Curars Gain

L Eopkcmncy | La s Ly S sz mank Lea venr [T

Pryical Fucdoning | ATEy imaiees R cmmepe Mocieatal sy i
]

Pain & Cmcamdas ST ey o Mzdeane e
e Mzdeaneyy

Cognitive  Furesianing My imasined L=
I zaiwd T

Cupramion & Arcasy e ey Savwn Mzdeane

a a

Opedan 1 Optian 2

Weuld you chacge your chcice f e pumBor of patice? aficcicd wan Sifioee?
0=
0

Question &
Wik of B fllcwirg woudid you peio?
CumeT aain Curere Gain
L Copecmncy | Laeteme Dy 1o e Teafyemr 5 yeaene mak
Mizdeaney e Pz
Pryaical Funcsioning oy el
Ty I el BT
Pain & Dicomias e M (=4 M Fia chnpe
Mizdeaney e
Na
Cognitiva  Funcsianing - e Ml imasined
Cpramion & Arcasy S ey R [
Ogion 1 Ogion 2

Weuld you change your chdice f e pumBor of paticea aficciod win Sifioeei?

|:|v=|
D1=




Question 3:

Wik of B following would you pecia?

Cume Gain

Curere Gain

L Erpacmincy

Phyuical Funcsianing

Pain & Discamiars

Copremion & Arlacy

5 yeaao o N change

e e R ]

Faduratey howy
¢ Imgained My Imsinad
= = Imained
[ [y Madeans Hia changs
howy Madurately
My Imosined Mo chonge
Imained Imgained
Madeats M Madeans Hia changs
Opedan 1 Optian 2

Weuld you chamge your chdice f e pumBor of palice? aficcicd win Sifiooet?

D'h
D1=

Question 10:
s ot e el g wad yms meie?
Dumam Gain D Gain
L mamnry | Las e Dyae R cnaege L o Laae 5 e manw
Pl Funcsianing C=—=7 oz e oy moieed Rz g
e
Fain & Dmramias e g | T o
Cogritive Euncdianing C=—=7 oz e oy moieed Rz g
e
Daremion & Ariay s e - o
O L Opn T

Weuld you chamge your chdice f e pumBor of palice? aficcicd win Sifiooet?
O-=
0

Question 7t
w2t e e llrw g wed i yme meied
e Gain D Gain
L Bmamery | LeSyaem 5 jeesar mae . R
fr— Rren—
Pl Funcsaning | ADEy mmws s suege
ey ey
Fain LDmsamian R g || zaee o
fr— Rren—
Cagritva Funssaning [ may e
e ey
e & Ariasy T e . Ry
O L Opn T
Walld o smegrymes smns e omEe ot el end atesE w2 Mol
O=
O
Question 5
w2t e e llrw g wed i yme meied
e Gain D Gain
L Dty |Law g e 1eaS e TSy 5 ysaar maw
RrE—— fr—
¥ ;i s
Pl Funssianing - [ e
Fain LDmsamian e [ -3 T o
RrE—— Rren—
Cagritva Funssaning [ Ry
e e
e & Ariasy o oz rmange zaee o
O L Opn T
Walld o smegrymes smns e omEe ot el end atesE w2 Mol
O=
O
'
Question 11:
w2t e e llrw g wed i yme meied
e Gain D Gain
L mamnry | Law g Dyee R chaoge Sy maw Na s
fr— Rren—
¥ s s
Pl Funssianing - e e
Fain LDmsamian R [ -3 zaee o
Cagritios Funcsoning Sl ey impied ANy meed oz omepe
e
e & Ariasy o oz rmange . o
O L Opn T

Weuld you chacge your chdice f e pumBor of patice? aficciod wan Sifiooe?

D'h
D1=

Question 12:

g 2t T fellewrg weedd pm pested
=g = =g Gain

L Dpecsancy | Lo s Loyeae Rla cloegs Lt hw Loyae L RaS yaen
Sty LEFERETIO SR,

Pryacsl Funcsianing My Irrzained
e awewd o wewd o aaired

Pain & Diamiars e MAd Madeans Mo chags
PAzducanwy SR,

Cagritve  Funcsaning P e Py el
r il r i

Copramsion & Arcdasy Madeans MAd EEY] Madeane

Opean 1 Opdian 2

Weuld you chamge your chdice f e pumBor of palice? aficcicd win Sifiooet?

D'h
D1=




Question 13:
w2t e ez wed ymo meie?
e Gain D Gain
L Dmamery | LeSyaem 5 jeesar mae L D ha saoge
R [Rrrre. fr—
Pl Funssianing may e
e ey ey
Fain LDmsamian R e o T “zzene
Cagritios Funcsoning Madeaosli' e impniad ==y oz s
e
Dramion & Ay T zzene . o
O 1 Opn T

Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifiooe?

D'h
D1= N

Question 14:

Wik of B following would you pecia?

Currare Gain Currare Gain
L Erpacmancy 1ka’s yam i changs Lot e 1y L 225 yeaes
Fadurately adeansly
3 ¢ Im N
Phyuical Funcsianing - My Imgzined s
Fain &Ciscamiar: [ i changs o o nd
Fadurately Thawy adaratey
Cogritiva Funconing My Imgzined
Irined Imgained Imgained
Copramion & Arlacy [, (LY Madeans nd
Opdan 1 Opian 2

Weuld you change your chdice f e pumBor of patice? aficcicd wan Sifioeei?

D'n:u
D'\l:

Question 15:
ek o e el wend E e mesteel
Cures Gain =g Gain
LPs Depecmincy | 5 yemrse mae RS choege L e Loyeae RS R
PAndEny ey
= v I
Peryuical Funesioning - Py e ATy s
Pain & Cmardas Mad Fon S =3 [y Fen gk
Ty ey
Cagrithvs Funesioning Py e Fen gk
ol T
oo & Arcdasy S Fon S PAzdeane Fen gk
Dgon L Dion 2

Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifiooe?

D'h
D1=

Question 16:
ek 2 e el wesd® e zesteel
=g = Curee Gain
LB Sty Lea s Fen e Teal e 5 e Tk
Sy
sl Funesioning | MOy broied s saoge Ay b seed
e
Pain & Dicamiars M Mo choegs (= T M
Sy Pzderanely
Cagritie Funcdaning Fen e Ay b seed
T el T
Cotramion & Arcany [ M fr—. il g
Dprion L Dpion T

Weuld you change your chdice f e pumBor of patice? aficcicd wan Sifioeei?

D'n:u
D'\l:

Question 17:
g 2t Eoe fellewarg weed pe pested
Cures Gain =g Gain
L Expscncy 1 =a’s yuarn Rl e [Py R R e e ]
Sy PAnducanwy R,
Pryacsl Funcsianing My Irrizained
T wewd T wewd o il
Pain & Dicamiar: e Mo choegs (= Madeans M
Sy PAnducanwy R,
Cogritive Funcdianing Py rieed
7 il r il T i
Cogramion & Krodasy pe Rl e pe M
Opdan 1 Opdan 2

Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifiooe?

D'h
D1=

Question 18:
g et T fellewrg weedd pm el
=g = Curee Gain
L Eopeemancy | Lo o Loy B3 s 1 0a’s yuarn P e
PAndueanky
Prriiesl Funcdoning | Wiy e zaived Rl S P e
o ikl
Pain & Dicamiars e Madeans (= T M
SRy LEFERETIE Y
Cagritve  Funcsaning Py il
o il r vl T e
Cpramion & ArodaTy ] Madeans Madene M
Opson 1 Opdan 2

Weuld you change your chdice f e pumBor of patice? aficcicd wan Sifioeei?

D'n:u
D'\l: "




Question 19:
ek o e el e dE pro mestee]
Curee aain =g Gain
LB Bty L ea s B g ooEarat matk R g
Sy Pzderaaly
= Na Na
Peryuical Funesioning - e ETY
Pain & Cmardas Mad B g =3 [y Fen g
Sy ey Pzderanely
Cagrithvs Funesioning B g
s ] T
Coramion & Arccasy Mad B g [ Fen g
Dgion L Dion T

Weuld you chacge your dhcice f e pumBor of pafice? afiecicd win Sifiooet?

D'h
D1= N

Question 20:

Wik of B following woul you pecia?

S Gain D Gain
L Dmmmery | LsSvam 5 mae Sy maw Na g
Pl Funcsianing i T ¥ Ve ANy moe oz omege
s
Fain LDmsamian e e o T Ry
fr— Rrrn—
Cagrtve Funcdoning | ADEy maiems R suoge
e s
Dramion & Ay T e zaeae o
O 1 Opn T

Wl you charge your dhdice f Be pumBor of patice? afiecicd wa Sifiooet?

D'h
D1=

Question 21:
w2t e ez wed ymo meied
S Gain D Gain
L Dmamncy | S eams maw R saoge lexSye hachaoge
- fr—
¥ ;i s
Pl Funssianing o [ g
Fain EDmramian e [y -3 zzee o
Cagritios Funcdoning C=—=7 oz s AnEy moe fz omege
e
Do & Ay T “zaere . oz amnge
g L Opn T

Weuld you chacge your dhcice f e pumBor of pafice? afiecicd win Sifiooet?
O=
0

Question 22:
g 2t T fellewrg weedd pm pested
Curee Sain =g Gain
L Depecancy | L s Ly 5 yedesiae mank Lo s Loy a3 g
Sy SR, PAndueanky
Pryacsl Funcsianing Mo chegs
T wewd o el o ikl
Pain & Dicamiar: e Paderans (= M Mo changs
PAzducanwy SR,
Cogritive Funcdianing Py risd Py el
e vl r v
Cogramion & Krodasy Ml LY p PAnducad
Opdan 1 Opdan 2

Wl you charge your dhdice f Be pumBor of patice? afiecicd wa Sifiooet?
O=
0

Question 23:
w2t e ez wed ymo meied
S Gain D Gain
L Dmamecy | LSy s caege L e L 5 aacnar man
Pl Funcsianing C=—=7 oz s AnEy moe fz omege
e
Fain EDmamdas T zaere o zaee oz rmange
- fr— Rrene—
Cagritva Funsaring [
e ey ey
Do & Ay T “zaere o oz amnge
g L Opn T

Weuld you chacge your dhcice f e pumBor of pafice? afiecicd win Sifiooet?
O=
0
1

Question 24:

g 2t T fellewrg weedd pm pested
Curee Sain =g Gain

L Depecsncy | Lot Ly L2l yeaen 5 e aT Tk LT
Sy PAnducanwy JEFERCTI

Pryacsl Funcsianing My irzsined
T wewd T wewd o el

Pain & Dcarias [ B cmange o Mizderane Bz smnge
PAzducanwy SR,

Cogritive Funcdianing LY Py el
Irined msined

Cogramion & Krodasy pe nad PAndueans LT

Opdan 1 Opdan 2

Wl you charge your dhdice f Be pumBor of patice? afiecicd wa Sifiooet?
O=
0




Question 25:
ek o e el wend E e mesteel
Cures Gain =g Gain
LPa Erpactwncy | Lies dowe ©yuese 1 o2 yaoen Lt e T yacwe 5 yaenie s
Ty ey PAzderanely
Pryacsl Funcsianing My masined
T T o maed
Pain &Dicarmiars M Mo choegs (= Madeans M
Cogritive Fumdoning | MOy bmoied s ctege ==y By s
I zaad
Copramsion & Arodasy Madeans Mad IR Madens
Dgon L Dion T

Weuld you chacge your chdice f e pumBor of patice? aficcicd wan SifioeeT?

D'h
D1=

Question 26:

Wik of B following wou you pecia?

e Gain Currare Gain
L Erpactincy lraSyesa 5 yamamor mons Lk e Ly 5 yeannar monk
Ry
3 Na Na
Phyuical Funcdaning - ek MY Imgzined gk
Fain & Ciscaméar: (LR M o o Hia changs
Faduratey roEwy
Cogritiva Funcdoning i change My Imsined
Irsined Imained
Cupresion & Arlacy (LR i change nd Hia changs
Opedan 1 Optian 2

Weuld you chamge your chcice f e pumBor of palice? aficcicd wan Sifiooe?

D'h
D1=

Question 23:
s ot e el g wad yms meied
Dumam Gain D Gain
L Bpacmnry |Las e Dyae Lo e Sy maw Nasaoge
R fr— Rrrn—
Pvpical Funssiaring oz rmange
e ey e
Fain & Dmramias o [y -3 “zzene pEpT—
Cogritive Funcdianing C=—=3 oz e [ e
e
e & Ariay . e - “zzene
O L Opn T

Weuld you chamge your chcice f e pumBor of palice? aficcicd wan Sifiooe?

D'h
D1= "

Question 27:
w2t e ez wed ymo meie?
e Gain D Gain
L ety | Laa g L S pesar mane Sy maw Na s
fr—
Pl Funcdaning | ADEy mmws s suege Ry
ey
Fain LDmsamian o [ -3 zaee Ry
Cogritia Furcdoning | My moieed R cuege Swoarsh e idad
ey
e & Ariasy T zzene . Ry
O 1 Opn T
Walld s smegrymer smns e oomEe ot el e d atesE w2 Mo
O=
O
Question 29:
w2t e ez wed ymo meie?
e Gain D Gain
L ety | Laa g L S pesar mane . R
RrE—— fr—
¥ s
Pl Funssianing - e Ay e
Fain LDmsamian e [ -3 T Ry
fr— [Rrrre. fr—
Cagritva Funssaning Ay e
e ey ey
e & Ariasy e e zaee Ry
O 1 Opn T

Weuld you chacge your chdice f e pumBor of patice? aficcicd wan SifioeeT?
0=
0
m

Question 30:
s ot e el g wad yms meied
Dumam Gain D Gain
L rmamnry | Las e Dyae R caoge L S L aae 5 v mane
Pl Funcsianing C=—=7 oz e [ e
e
Fain & Dmramias [ [y -3 T o
Cogritive Funcdianing C=—=3 oz e [ e
e
e & Ariay e e - o
O L Opn T

Weuld you chamge your chcice f e pumBor of palice? aficcicd wan Sifiooe?

D'h
D1= .




Group 2

Question 1:
ki ot e sy wad d ymo metsl
Cure ain e ain
L Dy Lt S Loy 152l ey Lt S 1oy Fia change
Sarowrny Mizdetaney
al L M
Prryaical Funcsioning - g e
Fain &Cicamdar Pladeane g or g M change
Cogritia Funcdioning | My mareed R e =7 oy e
I e
Capramion & Arcdasy Saroww Mizdeane Sarcwrn o
Opdion 1 Opdian

Weuld you charge your dioice § e cumbor of patice afcicd win Sifioeet?

Dva
D1=

Question 2:
s 2t e g wandd pmo metsl
e ain e ain
L Sy Lt S 1oy 152l ey Lt S 1oy o changs
Sy Mizdeaney
a L]
Prysical Funcsioning - - oy e e
Fain &Cicamdar e M change (=4 e Pladerane
Mizdeanay Mizdetaney
L
Cagritive Funceioning - g ey i aed
Capramion & Arcdasy Sarcwrn Mizdeane [rrrreee Fen g
Opdion 1 Opdion

Weuld you charge your dioice § e cumbor of patice® aficicd wimn Sifioet?

|:|v:|
D'\l:

Question 3:
Wik of B follcwirg would wou pecior?
Cures Gain Curers Gain
LB Dopecmincy | Lzt Dy 1esl e 12 yearn oz e
Mizdeaney Mzdeaney
= Na
Pryaical Funcsioning - e oy el
Pain &Darias Madwane Fia change o M Fia change
Sy Sarvwrny Mzdeaney
Cognithva  Funcdoning R change
I zaed T T
Cupremion & sy R ("] - oz e
opsion 1 opian

Weuld you charge your dioice § e cumbor of patice afcicd win Sifioeet?

D'h
D1= )

Question 4:
Wik of B follcwirg wouid wou pecior?
Currars Gain Currar Gain

Lfa Expaesiney 1 £a’s yaen Fia s Lt e L w5 o mane
Toawy

Phyieal Funcdoning | Mdy Imaaiesd i cmegs Fia s
r ik

Pain &Darias Madeane Md (=3 M o changs

Cogritia Fucdoning | Midy roieed R chmegs Swoarsl ey imgicad
r ik

Cupramion & Amdasy Teoae [EFEREAN ik Fia s

Optdan 1 ]

Weuld you charge your dioice § e cumbor of patice® aficicd wimn Sifioet?

D'n:u
D'\l:

Question 5:
ki ot e sy wad d ymo metsl
Cure ain e ain
LEe Epecmincy | 5 veamor mane Ra chmepe Tea%venn % yeaemor Mok
Sarowrny Mizdeaney
Prryuical Functianing Pkl imizained M change
T T T
Fain &Cicamdar Pladeane g or e Pladerane
Sarowrny Mizdetaney
L
Cagritive Funceioning - g oy e
Cooramion & Rredamy Madsres M changs R Madsrans
Opdion 1 Opdian

Weuld you charge your dioice § e cumbor of patice afcicd win Sifioeet?

D'h
D1=

Question &:
e 2t e fallzwiog wadd ymo geterd
e Gain e Gain
P ety [ Law s Dyeae Ra shaege Tyana maw R s
Pl Funcsianing Modaratahi' sty impivad nnEy med R cwege
il
Fain & Cmcamias Rewra Azdnae o Azdwase na
o
Cogriiva Funcdoning | By Immied R caege R
e
Cooramion & Rredamy Madsmane M changs R Madsrans
g 1 g 2

Weuld you charge your dioice § e cumbor of patice® aficicd wimn Sifioet?

D'n:u
D'\l:




Question 7t
w2t e ez wadi ymo geisd
S Gain D Gain
L Dpamency | LsSyam R chaege Sy maw Na g
e fr— Rrrn—
Pvpical Funssianing pEpT—
s ey ey
Fain LOmamian e [ -3 zaeae Ry
Cagritivs Funcsoning ":““ - ANy moe oz omege
Dramion & Ay e e o Ry
O L Opn T

Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?

D'h
D1=

Question 3:

Wik of B following woui yous pecia?

Question 9:
w2t e ez wadi ymo geisd
S Gain D Gain
L mamnsy | Laa g Ly S penar mane L e L 15 yean
Pl Funcsianing i T ¥ Ve ANy moe oz omege
s
Fain LOmamian e e o o

Ogedon 1 Optian 2
Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
0=
0
1

e Gain D Gain
L Dpacmnry | Law g e LeaS e Lo e Ly 5 yaanar man
fr— fr—
¥ ;i s
Pvpical Funssiaring - [ e
Fain LDmamias o [ -3 T Ry
R [Rrrre. fr—
Cagritva Funsaning Ry
e ey ey
e & Armiary e e . Ry
O L Opn T
Walld o samgryser Sans e omEe ot aalend atesE w2 Mo
O=
0 -
1
Question 10:
w2t e ez wed i yme meied
e Gain D Gain
L rmamnry | Law g Dy R chaoge Lo e Ly 5 yaanar man
Pl Funcsianing C=—=7 oz e ANy meed oz omepe
e
Fain LDmamias R [ -3 T o
Cagritivs Funcdaning =7 oz e ANy meed oz omepe
e
e & Armiary e e . o
O L Opn T

Weuld you chacge your chcice f e pumBor of paticea aficcicd wan Sifioee?

D'h
D1=

Question 11:
ek o e el wendE ez mesteel
Curee Sain =g Gain
LPa Erpectwncy | Lies dowe ©yuoe 1 eaS yaoes Eyeamas maw Na chege
PAndEnIy Sarcaraly
= v I
Peruical Funesioning - Py e (L ]
Pain & Dicamiars Madeans Mo chegs (= e Madene
Sy PAzdeanay
Na Na
Cogritve Funcsoning - g e
Caprsmion & ArcdeTy Madeans ad RN Madene
Dion L Dion T

Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?

D'h
D1=

Question 12:
e e el wendE pro mesteel
Cures Gain =g Gain
LPa Erpacmwey | Lies s Loyuwe Rl i 1 Ra’S yun Pia g
PAndeny ey
= Na Na
Peryuical Funesioning - e e
Pain &Dicariars e Madeans (= e Mo changs
Ty Py PAzdeaay
. . T T T
Cogramion & Arcasy [ErrreT Fon S Mad Fon e
Dion L Dion T

Weuld you chacge your chcice f e pumBor of paticea aficcicd wan Sifioee?

D'h
D1=




Question 13:

Wik of B following wou yous pecia?

e Gain Currare Gain
L Erpacmincy lraSyemm 5 ymmor mons 1 ta’S ya Hia changs
Ry aderataly
Phyuical Funcsianing My Imgined Mo changs
Iriined LR
Fain & Ciscamiar: U i change o o nd
Faduratey roEwy
Cogritios Funcsioning i change Hia changs
Irsined Imained
Capremion & Arey Sah M Madeans Hia changs
Opedan 1 Optian 2

Weuld you chacge your chcice f e pumBor of patice? aficcicd wan Sifioeet?
0=
0
1

Question 14:

Wik of B following would you pecia?

Duma Gain S Gain
L Eepacmnry  |Lasse Dyae Dead s L o L gaae 5w mane
Rren—
Pl Funcsaning | ADEy maews s moge [y
ey
Fain & Dmamias R e o T [y
Cogriive Euncsianing C=—=3 oz s ANy roieed ez g
ey
Do & Arveiay “zaere oz rmange zzee o
O L Opran 2

Weuld you charge your dicice f e pumior of patice aficicd win Silfioei?
0=
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Question 15:

Wik of B following wou yous pecia?

e Gain Currare Gain
L Brpacoancy | Laar te Lveae M chaege Liws o Ly 1 225 v
Ry
3 Na Na
Phyuical Funcsianing - ek MY Imgzined s
Fain & Ciscamiar: (LR M [ nd Hia changs
Ry adeanaly
Cogritios Funcsioning My mgzined Hia changs
Irsined Imained
Capremion & Arey Sah M Madeans Hia changs
Opedan 1 Optian 2

Weuld you chacge your chcice f e pumBor of patice? aficcicd wan Sifioeet?
0=
0

Question 16:

Wik of B following would you pecia?

Currars Gain Currare Gain
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Fain &Cicamiar: Maderats Mo changs o nd i chege
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Cogritiva Funcdaning Mo changs i chege
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Copriaion & Aracy [, Mo changs fr Padenats

Optian 1 Opian 2

Weuld you charge your dicice f e pumior of patice aficicd win Silfioei?
0=
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Question 17:

Wik of B following wou yous pecia?

e Gain Currare Gain
L Erpacaincy 1 ka’s yam i changs Lk e Ly 5 yeaenar mank

adeanaly

Phyucal Funcdoning | Midy imgained Faa changs Hia changs
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Fain & Ciscamiar: (LR M o Madeans Hia changs
Ry aderataly roEwy

Na
Cogritios Funcsioning - - chngs
Capremion & Arey mad i change Thokk Fadeane
Opedan 1 Optian 2

Weuld you chacge your chcice f e pumBor of patice? aficcicd wan Sifioeet?
0=
0

Question 13:

Wik of B following would you pecia?

Currars Gain Currare Gain
L Depactancy | Laar e 1y R chaege I R R ]
acurately Trowy
3 Na
Phyuical Funcsianing - e My Imsined
Fain &Cicamiar: [ M o o Padenats
o aderanely
Na g
Cogritiva Funcdaning - gk chngs
Copriaion & Aracy [, M Madeans nd
Optian 1 Opian 2

Weuld you charge your dicice f e pumior of patice aficicd win Silfioei?
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1




Question 19:
ek o e el wendE ez mesteel
Curee Sain =g Gain
LB Bty L ea s Fen e Teaf a5 yeeRas Tk
Sy PAzdeanay
= v I
Peruical Funesioning - Py e (L ]
Pain & Cmardas Mad Fen e =3 [y Fen g
PAndEnIy Sarcaraly
Cagrithvs Funesioning Fen e Fen g
e I zawd
Coramion & Areday Mad Fen e PAzdeae Fen g
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Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
0=
0
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Question 20:

Wik of B following woui yous pecia?

Question 21:
w2t e ez wadi ymo geisd
S Gain D Gain
L Dmamency | LsSvam 5 pesa mae L Dy Ra chaoge
e fr— Rrrn—
Pvpical Funssianing pEpT—
s ey ey
Fain LOmamian e e o zaeae Ry
Cagritivs Funcsoning e oz s ANy moe oz omege
e
Dramion & Ay e pEpT— zaeae o
O L Opn T

Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
O-=
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g 2t T fellewarg weed pe pested
Curee Sain =g Gain
L Expacncy L o2’ v LY L oo Loy L RaS yeme
Sy PAnducanwy JEFERCTI
Pryacsl Funcsianing My irzsined
T wewd T wewd o el
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PAzducanwy SR,
Cogritive Funcdianing Py risd Py el
e vl r v
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Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
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e Gain D Gain
L Bmamery | LeSyaem 5 peesar mae Sy maw Na s
Pl Funcsianing Sl ey impied ANy meed oz omepe
e
Fain LDmamias R e o T Ry
fr— Rren—
Cagrtve Funcdoning | ADEy mmiews G uoge
ey ey
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O L Opn T
Walld o samgryser Sans e omEe ot aalend atesE w2 Mo
O=
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Question 22:
w2t e ez wed i yme meied
e Gain D Gain
L rmamnry | Law g Dy R chaoge TSy 5 ysaar maw
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¥ s s
Pvpical Funssiaring - e may e e
Fain LDmamias R e o zaee Ry
fr— [Rrrre. Rren—
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e e
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O L Opn T
Walld o samgryser Sans e omEe ot aalend atesE w2 Mo
O=
O
Question 24:
w2t e ez wed i yme meied
e Gain D Gain
L rmamnry | Law g Dy R chaoge Lo e Ly 5 yaanar man
RrE—— fr— Rren—
Pvpical Funssiaring oz rmange
e ey ey
Fain LDmamias e [ -3 T zzee
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O L Opn T
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Question 25:
W ot e o g wnnd @ oo pestsed
Curers Gain Curers Gain
LEw Epactncy | L S Dyewe 5 yeaeaor mank Lawzgan Lyear 153 e
Mizdeaney Sy
=1 v Irm N
Prryuical Funceioning - gy i aed e
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Sy Sy Mizdetaney
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Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Question 26:

ot g wed i v s

U ain CuTe ain
LEw Bpacmincy | 5 yeaemos monk RS gk 1825 yean P smange
Sty Mizdetaey
a v im
Prrysical Funcsioning - oy ed oy i aed
Pain &Dicorias e M changs o e Maderns
Mizdeaey Sawrny
v im M
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Weuld you charge your dicics § e cumbor of paticen affcicd wn St}
O=
0

Question 27
s B e llmneg wend @ pm pested
Curee Gain Curee Gain
LPe Eomsancy | 5 emnoe maw R cheg D e ™ |
Sy PAzdeanEy
= Na
Perysicsl Funesioning - e Py i
Fain &Dcomfars M Lo [=3 Madeane M
Sy Sy PAzdeanEy
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o e o e o e
Capramion & Amdasy [ Bz s Mzdetace Bz s
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Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Question 28:
s ot e s g ws d® pme pestsd
=g Gain =g =
LB Exmcmwny | Lam g Dyeae B3 ctmege 1 ea s Fen s
PAzdeaay [T
= v Iy Na
Peryuial Funesianing - Py e BTy
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v Iy
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Question 259:
ik of B follcwirg woudd wou pecio?
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LR Epamncy | Lt Dyese R st L g e S yaaenar ook
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Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Wik of B follcwirg wodid wou peic?
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Group 3
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s 2t o el g wed pro pested
ST aain ST aain
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Prryuicsl Funcsianing Pl g LT
o mired o ired
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Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Question 2:
g et T fellewi g wed® pro pested
ST aain AT aain
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Weuld you charge your dicics § e cumbor of paticen affcicd wn St}
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Question 3:

w2t e el g Wl pre zeis?
S Gain S Gain

L Eopamny  |Lam o D 1 5aS e L e L R g

Prrviical Fumcsianing Modaratalf sy impioad nnEy mmed R cwege
e

Fain LDmamias Do fRre— o o oz amange
- zaeey zamey
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e e e
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Opran L O T

Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Question 4:

g et T fellewi g wed® pro pested
=g Gain =g =
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SR PAndueaney, Sty
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Cogrithve Funcianing RSy e aisd Rl
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s B e llmneg wend @ pm pested
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Sy PAzdeanEy
= v Iy Na
Perysicsl Funesioning - Py e e
Fain &Dcomfars e Lo [=3 Madeane M
PAzdeanEy PAzdeanEy
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Would you charge your dhdos ff B pumBor of pafice #fiecicd win Eifioet?
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Question &
s ot e s g ws d® pme pestsd
=g Gain =g =
LB Exmcmwney | Lam S Dyeae S e mank L e Loyeae 1 eaS e
PAzdeaay Sy
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Pain & Dicomifars T M (= Madeans Mad
o Pzderacely Sy
. o T o maed T
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Weuld you charge your dicics § e cumbor of paticen affcicd wn St}
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Question 7:
s ot e o wesd i e peted
Qe aain e ain
L ey 152l yea 5 e mane L o Loy Pz change
Saowny Sy
a v Im M
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Saowny
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Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifioee?
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Question 3:

Wik of B following would you pecie?

Cume Sain e ain
L Sy 103l yea 5 year mane Lz o Lo 1 %2l ey
Mizdenaey Sarcaraiy
a L P
Prysical Funcsioning - Ty e
Fain & Cicamdar BT Pladeane e g
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Cogritive Funsianing vy e WOy mmieed Rn e
T
Cpramion & Amcasy [T P s Mizdenace Fen g
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Weuld you charge your dicice f e pumior of patice aficicd wa Sifioet?
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Question 9:
w2t e ez wed ymo meie?
e Gain D Gain
L Dpamery | LeSyeam s chaege TeSye 5 ysanar e
fr— Rrrne.
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Pl Funssianing - [ may e
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Cagritive Funzsioning M:"“ iy e ziws ANy wmieed R seaege
Dramion & Ay T zzene - pEpT—
O 1 Opn T

Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifioee?

Question 10:
s ot e ez g wad ymn meied
Duma Gain S Gain
L Epamnry | Lasse Dyae R cnege L e L gaae 5w mane
Pl Funcsianing C=—=7 oz s ANy roieed ez g
[y
Fain & Dmamias R oz rmange T o
Cagrition Funcdoning ":d'“ R tage Anay aiesd Rz sewepe
e & Armiay “zaere e - o
O L Opran 2
Walld g sagEyrerstans e come ot el e d ateisE wm el

D'h
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Question 11:
ek o e el wend E e mesteel
Cures Gain =g Gain
Ll Bpecmey |5 yemner mas R cmegs 1 Ra’S yan [
Ty Sy
= Na
Peryuical Funesioning - e ATy s
Pain & Dicamiar: e Madeans (= T Mo changs
PAndEny Sy PAzdeaney
Cognitiva  Funcdoning ¢ Imsined
T by T o e
oo & Arcdasy [ErrreT Fon S Mad Fen gk
Dgon L Dion 2

Question 12:
e 2 e el wedE pro mesteel
=g = Curee Gain
LPa Evpactwncy Lo e Ly 1 eaS yaoes Lreafyemws 5y e
[rEereen Sy
= Na
Peryuial Funesioning - gk Py s
Pain & Dicaomifars e MadeEans Madens M
eseren Sy
y I Na
Cogritive Funcsianing - WAy riiined e
Cogramion & Arcasy (2% Fon e PAzdeane Mad
Dprion L Cpion T

Wl you chacge your dhdice f e pumBor of patice? aficcicd wan Sifioee?
0=
0

Weuld you charge your dicice f e pumior of patice aficicd wa Sifioet?
0=
mEs




Question 13:
ek o e el wendE ez mesteel
Curee Sain =g Gain
R [ e ] Eyeamas maw Na chege
PAzdeanay
sl Funesioning | MOy boieed s sege Fen g
T
Pain & Cmardas PAndenE Fen e =3 Mad Fen g
PAndEnIy Sarcaraly Pzderanely
Cognitiva  Funcdoning ¢ Imsined
T by T e
Coramion & Areday PAndenE [T %] Mad Fen g
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0
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Question 14:

Wik of B following woui yous pecia?

‘Qurrare ain Currare Gain
L Brpacancy | Laas o 1yeae 5 yemenae mank L T
Baduratey Thowy aderanely
Phyuical Funcsianing i change
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Baduratey Thowy
¢ Im Na
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Capremion & Arey [ i change nd Hia changs
Opedan 1 Optian 2
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ek o e el wendE ez mesteel
Curee Sain =g Gain
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PAndEnIy Sarcaraly Pzderanely
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T = T e
Pain & Dicamiars Madeans ad (= Madeans Mo changs
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Cogritve Funcsoning - WAy brisined WAy riiied P g
Coramion & Areday S [T %] [ Fen g
Dion L Dion T

Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
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0

Question 16:
e e el wendE pro mesteel
Cures Gain =g Gain
LPa Erpacmwey | Lies s Loyuwe Rl i 1 Ra’S yun Pia g
Ty PAzdeaay
= Na
Peryuical Funesioning - e By s
Pain &Dicariars Madeans Mad (= e M
Cogritve Furcdoning | My Immieed P chmegs Modarsealy Pia g
T
Cogramion & Arcasy S PAzsene PAzdeane Fon e
Dion L Dion T

Weuld you chacge your chcice f e pumBor of paticea aficcicd wan Sifioee?
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Question 17:
s ot e o wead i pra gl
e Sain U ain
L ey Lo o Loyear 5 yeaeaar mane Lt S Loy Pz changs
Saowny
a L M
Prryaical Funcsioning - ey oy aaed g
Fain & Cicardar Pdzdeane Pz chonge or e Pladeane
Saowny Mizdenaey Sty
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e T T
Capramion & Amcesy Sarcwrn [T Sarowrw Pz s
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Wl you chacge your dhdice f B pumBer of patice? afiecicd wa Sifioeet?
0=
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Question 13:
s ot e o wesd i v gl
Qe aain = ain
L Ry 152l yea 5 e mane 1as yean Pz changs
Saowny Mzdenaey Sty
Prryuical Functaning Mg change
e T T
Fain &Cicardar Pzdeane reiid or g Mg change
Mizdetaey Mizdeaey
v Im Pz
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Question 19:
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e Gain Currare Gain
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I Imizained
Capremion & Arey Sah i change nd Hia changs
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Weuld you chasge your chcice f e pumBor of patice? aficcicd wan Sifioeet?
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Question 20:

Wik of B following would you prcia?

Duma Gain S Gain
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ey
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O L Opran 2
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Wik of B following wou yous pecia?

e Gain Currare Gain
L Erpacmincy lraSyemm 5 ymmor mons 5o ok Ra changs
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Fain & Ciscamiar: U (LY o o Hia changs
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Capremion & Arey Sah i change Thokw nd
Opedan 1 Optian 2
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0=
0

Question 22:
e 2 e el wedE pro mesteel
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Peryuical Funesioning - Py i e
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e Gain Currare Gain
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Weuld you chasge your chcice f e pumBor of patice? aficcicd wan Sifioeet?
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Exercise 4 (‘How do we make choices when gains may seem small?’) Questions

Question 1:

There is a condition inwhich current treatmentinvolves many
sessions of radistion. Patients havetocometothetrestment centreb
days a week for & consecutive weeks. The costof treatmentto the
healthcare system is 58,000 per patient per year.

There is a new type of radiation trestment in which patients only nesd
o go to the centreonce. It works aswell asthecumenttreatment

and the costiz 58,000 per patient

Which treatment would you choose?
|:| Current treatment
[ Mew trestment

Question 1 continued:

Would you choosethe new trestment if

58,000 par patient®  $10,000 per patient?
E e a
a Neo = No o

513,000 per patient? $14,000 per patient

o s o e a

a Ne a Ne o No

517,000 per patien® $18,000 per patient?
e e a

a No a Neo a N

512,000 per patient?

o e a

it costs:

511,000 per patient? $12.000 per patient?

Yes a

No a

415,000 per patient? 515000 per patient?

e a

e a

ag

£20,000 per patiant?

as

No

No

s

L

Question 2:

There is a condition inwhich current treatmentinvolves an injection
every 4 hoursthroughout the day and night. The costof treatmentto
the healtheare system is 52,000 per patient peryear.

There is a new medical device that delivers the same medication
sutomatically through small tubing and a needle inserted into the
skin. They need tobe replaced every 3 days. The costof this
treatment is52,000 per patient.

Which treatmentwould you fund?
|:| Current treatment
[ Mew trestment

Question 2 continued:

Would you choosethe new trestment if it costs:

52,500 per patient®

54,500 per patient?

56,500 per patient?

53,500 per patient? 54,000 par patient?

ag

No

s

No

s

No

53,000 per patient?

57,000 per patient?

Yag a

Nag

No

55,000 per patient? §3

as a

Na =

No a

57,500 par patient?

o s

= No

500 per patient® 3

Neg

No =

Mo a Ne

o es

58,000 per patient?

as o s

o e

a Neo

8,000 per patient®

No

Question 3:

There is a condition inwhich current treatmentinvolves an
intravenouz medication thatizgiven inthe hospital over 4 hours every
2 weeks for life. The costof trestmentto the heslthcare system is
5200,000 per patient per year

There is a new omal treatmentthatinvolvestaking 1 pill 3 times per
day. The pill isas effective asthe IV medication atcontrolling the
condition. Thecostof thistrestmentis 5200,000 per patient.

Question 3 continued:

Would you choose the new trestment f it costs:

Yes

No

$Z25,000 per patien®
Lo

Mo

323,000 per patient”

423,000 per patient?

$230,000 per patisnt?
o s

a No

$230,000 par patient?

o Ve

a Neo

5430,000 per patient”

$273,000 par patient?

o s

a No
$275,000 par patisnt?
o s
a No

473,000 per patient”

$300,000 par patient?
o Nes

2 No

$400,000 per patient®
o Ves

o No

£300,000 per patient”

Question 4:
There is 8 condition inwhich current trestmentinvoves taking 10 pills
six times per day for life. The cost of treatment to the healthcare
systemis512,000 per patient peryear.

There is a new oral treatment thatinvelvestaking 1 pill & times per
day. Itis aseffective as current trestment. The cost of this trestment

is 512,000 per patient.

Which treatmentwould you fund?
|:| Current treatment

[] Mew treatment

Would you choose the new trestment if it costs:

$12,000 per patient?

Yes

No

$22,000 par patient?

= s

a Ne

344,000 per patient?

tes

No

315,000 per patiemtT  $EO000peTRRtent? 232000 per patient?

o s

a No

$32,000 per patient?
o Yes

a No
$42,000 per patient?
o s

a No

o es

a Neo

525,000 par patient?
o es
a Neo
$32,000 par patient?
o Yes

a No

Which treatmentwould you fund?
I:‘Currenttreatment s s I ks o s o s
[ Mew treatment = he a Mo a Ne I Ne

Question 4 continued:

a s

a No

$40,000 per patient?
o Yes

a No

$35,000 par patient?
o s

a No




Question 5:

There is 8 genetic condition thatcauses progressive dedinein mentsl
abilities, rigid musdes, tremaors, and slowed movement. The
condition hasno cureand isterminal. Treatment involves managing

symptomswhenthey develop.

All individuals withthe mutation will eventually developthe disease.
There is a new blood test that willyou whether or notyou havethe

mutation. It costz550.

Would you fund the test?

I:‘Yes
[he

Question 5 continued:

Would you fund it if itcosts:
$100 per patient® 5130 per patient?
o s o Yes
a No a No
5300 per patient? 5350 per patient?
o Vs o s

2 No a No

5500 per patient? 51,000 per patient?

= s = s

= Ne a Ne

SZ00 per patient? 5250 per patient®

o s o s
a Mo a No
5400 per patient? 5450 per patient?
o Ve o s

a Neo o No
52,000 per patient? 53,000 per patient?
o s o Ves

a No 2 No

Question 6:
There is a condition in which current treatment extends e by three monthe
after diagnosis.  After recovering from the treatment, which can take upto 3
weeks, patients feel better for sbout one month before they startto get
2gain and eventually die. The costof the trestment to the heaithcars
eatment cycle.

WO
system s 51,000 per patient per
There is a new oral treatment that extends e by 3 more months than
current treztment. The orzl treatment has few side effects, and patients
experience few symptoms until the lzst manth, during which they rapidly
decline. The cost of this treatmentis 51,000 per patient

Which treatmentwould you fund?
I:‘ Current treatment
I:l Mew treatment

Question 6 continued:

$2,000 per patisnt? $2.,000 par patiant?

o s a Ve

a No a Ne

10,000 per patient”  $13,000 per patient?

o s o Ves

o No a No

30,000 per patient”  $33,000 par patient?
o s o Ves

o No o No

Would you choosethe new trestment if it costs:

£4.000 per patient? 8,000 per patiamt®

o e z an
a Mo = Mo
£20,000 par petiant? 523,000 per patient?
a Ve o Ves
a Ne o No
$40,000 par patisnt? $43,000 par patient?
o Ves o Ves

a No o No

Question 7:

There is a condition inwhich cument treatment involves taking 5 pills every
day for ife. Individuals take the pills to control blood pressure. The pills have
minima! side effects. The costof the trestment to the healthcare system iz
5500 per patient per year,

ex a catheter inserted into 3 vein to

There is a new laser treatment that u
burn the nerves that control bood pre:
treatment, and patients no longer need to take pills. This treatment is

repeated every 3 years. The cost of this treatment is 5500 per patient.

ure. Itworks 35 well 35 cument

Which treatment would you fund?
I:‘ Current treatment
I:l New treatment

Question 7 continued:

$1,000 par patient?
o s o Yes
a No a No

42,000 per patient®

o Nes o s

2 No a No

£3,000 par patient™  £7,000 par patient?
o s o Ves

o No o No

Would you choose the new treatment if it costs:

£1,300 per patient?

$3,300 per patient?

2,000 par patient? $2,300 par patient?
a s a Yes

a No a Mo

£4,000 per patient? $4,300 per patient?
a s o s
a No a No
£2,000 per patiant? £12,000 par patient?
o e o e

o Mo o Mo

Question 8:

Current treatment for certain sofid tumours that don't respond to
chemotherapy or radiation is surgery. Surgery extends life by & months. The
cost per patient is $20,000.

There iz an innovative treatment in which healthy genes are put into viruses
that infect cancer cells and turn off the gene that = causing the celis to grow
out of control. The viruses are injected into the tumour. The treatment is
effective at showing growth for about 4 months until the patient's own
immaune system develops antibodies to the virs, destroying it from
defvering the heaithy genes to the cancer cells. Survival after the viruses ars
destroyed is 2 months. The cost per patient is $20,000.
Which treatmentwouldyou fund?

|:| Current trestment

D New treatment

Question 8 continued:

523,000 per patient™
o s o s

a Neo 2 No

Would you choosethe new trestment if it costs:

430,000 per patient®

532,000 per petient? 340,000 per patient?
o s o s
a No a Mo

$43,000 per patient?
o Yes
a No
£50,000 per patient?
o s

a No

$30,000 per patient? 350 000 per patient?

a e = s
a No a No
$50,000 per patient? 53,000 par patient?
o Yes o es

a No a Mo

$70,000 per patient?
o s

a Neo

$100,000 per patient?
o es

a Mo




